e V3 —~5 jrir- s _ 3 3
3 114 F 2FApERE le =R
L v v
Vo axq V-
#1: 13 TE1R(51.88) #2: 6 F#7(46.48) #3: 3 Oceans(40.83)
1 NS: E=6HE sREHGHO) -12 4 NS: EZEM JET31E(BAC) -19 VP:| 1218 : 7.82 | Total VP: 37.75 Rank:
EW: #E{— 5k MR EAC) 18 EW: &5 8185E(F0) 12 IMP:| 23 17 4
_ __
# 21 » AQ42 3NN5 660 Mean: 3NN5 660 1.0 2 [[# 22 o AQ42 1CE-3 300 Mean: 1CE-4 400 50 2
v AJ962 4HN4 620 640  4HS5 650 0.0 1 w7 1CE-4 400 210 1CE-3 300 30 3
o7 Dif: 40 NS:1  4HN5 650 0.0 8 + KT74 Dif: -100 NS:3 2HW-2 200 00 1
» K93 IMP: 1 EW:1 4HN4 620 1.0 3 » AQT2 IMP: -3 EW:-5 1CE-2 200 00 1
& KT985 4 76 & KT8 4 9753 3DS4 130 20 2
v KQ4 v73 v 8642 _— v AQ95 2NS3 150 20 1
+ Q65 | * T82 + J62 + A5 3DS3 10 30 1
& 74 & AT8652 & 875 & K63 1SN2 110 3.0 1
¢VeN ,J3 PIVEON L J6 1NN2 1200 30 1
N ~45~4 ¢T85 N 44~~2 ¢ KIT3 1NN1 90 3.0 1
S ~ 45~ 4 ¢ AKJ943 S 34~~2 4Q983
E ~~~~~aQ E ~~~~~ aJ%
W ~~~~~ W ~~~~~
# 23 » J873 2HW3 -140 Mean: 3NN4 630 120 1 ||# 24 » 63 3SE4 -170 Mean: 4SE-2 100 60 1
v Q4 2HW3 -140 -30  4HW-1 100 40 1 v QJT752 3SW3-140 -140 3CE-2 100 60 1
+ AKJ9 Dif: 0 NS:-3 2SE-1 100 40 1 ¢ A74 Dif: -30 NS:-1  4SE-1 50 50 1
» QJ8 IMP: 0 EW:3 2CS2 90 30 1 & QJ IMP: -1 EW:0 3NW-1 50 50 1
s T2 + AKQ54 3CN-1 4100 20 1 ||a K74 » AQT52 3HN-1 50 3.0 1
v AK7 + v 98653 1SE1 80 -20 1 ||v K86 v4 3sW3 140 0.0 1
+ Q873 ¢ 65 3HW3 140 30 1 ||e JT986 ¢ 52 3SE3 140 00 3
& T975 S ®2 3HE3 140 30 1 ||a AT & K8654 3SE4 470 4.0 2
PEVEN A9 2HW3 140 30 5 PIVEN 4 JoB 4SE5 450 70 1
N 22~~2 ¢JT2 3DN-2 200 50 1[N ~~2~~ ¢ A93 4SE4 420 70 1
S 22~~2 4T42 S ~~2~~ 4KaQ3 5HXN-3  -500 -8.0 1
E ~~ 31~ aAK643 E 22~42 49732
W ~~31~ W 22~42
# 25 » 983 5HWS5 -650 Mean: 4DXN-3  -500 50 1 ||# 26 » J87 2SW3 -140 Mean: 4SW-1 100 9.0 1
073 4HE6 -680 -680 5CE6 620 20 1 v 983 3NE3 -600 -300 3SW-1 100 9.0 1
+» AQJ82 Dif: 30 NS:1 5HW5 650 1.0 2 ¢ J2 Dif: 460 NS:4 3SW4 170 40 1
» 954 IMP: 1 EW:0 4HES5 650 1.0 2 » JT943 IMP: 10 EW:7 3SW3 140 40 1
s AJ64 s T75 4HW6 680 0.0 2 ||a AQT942 4 53 3SE3 140 40 1
v QT942 v AKJ 4HE6 680 0.0 3 ||v AK7 + v T654 2sw3 140 40 2
+ K ¢ T9 5DXS-4 800 3.0 1 ||eT5 + KQ86 2SE3 140 40 1
& Q6 & AKT73 5DXN-4 800 -3.0 2 ||a K5 & Q72 2CXN-2 500 -50 1
PEVEN H,KQ2 PIVEN L, K6 3NE3 600 -7.0 2
N ~~~~~ ¢865 N 1~~~~ vQJ2 4SW4 620 -8.0 1
S ~ ~ ~ ~ ~ 476543 S 1~~~~ ¢ A9743 3NE4 630 -80 2
E 6~552 aJ8 E ~~333 &A86
W 6~552 W ~~333
# 27 » J52 5DWS5 -400 Mean: 4HS4 420 120 1 [|# 28 » AJ75 4HS-1-100 Mean: 4HS4 620 110 2
v J9763 5DXWS5 -550 -230 6DXW-1 100 8.0 1 v K42 3NS-1-100 80  4HN4 620 110 1
¢T3 Dif: 150 NS:-5 6DW-1 50 7.0 1 + Q87 Dif: 0 NS:-5 3NN4 630 110 1
» A82 IMP: 4 EW:8 6CE-1 50 7.0 2 a A93 IMP: 0 EW:5 4HS-1 100 50 6
- # AK876 6HXS-2 300 20 1 ||a T86 » Q43 3NS-1 100 50 1
v v K84 5DW5 400 50 5 ||e J875 | v3 4HS-2 200 7.0 1
+ AK986542 *QJ 5DXW5 550 8.0 3 [|e JT9 * A432 3NN-2 200 7.0 2
& QT653 & J97 & QJ8 & K7642
PIVEN ,QT943 ¢Ve®N , K92
N ~~ 42~ ¢ AQT52 N ~~ 443 ¢ AQT96
S ~~42~ o7 S ~~443 ¢ K65
E 54~~~ aK4 E ~~~~~ aT5
W54~~~ W ~~~~~
# 29 » Q98 3NS-1 -100 Mean: 3NS5 660 40 2 ||# 30 a4 4SS6 480 Mean: 4SS6 480 50 4
073 3NS5660 510 3NS4 630 3.0 1 v AJT 2SS5200 300 4SS5 450 40 1
¢ T96 Dif: -760 NS:-12 3NS3 600 3.0 9 ¢ AT54 Dif: 280 NS:5 3NN5 460 40 1
» KT643 IMP: -13 EW:-4 5CS-1 100 120 1 » 98654 IMP: 7 EW:3 3SS6 230 20 1
» K743 N » T52 3NS-1 00 120 1 ||a A92 s J6 25S6 230 20 4
v AK654 v JT9 v 643 v 9875 2SS5 200 -3.0 2
¢ J75 + ¢ 843 + K76 ¢ 9832 3NN-1 -50 -80 1
&9 & J872 & AT72 & KJ3
P¢VESN L, AJ ®**Ve®N , KQT8753
N 34~~2 Q82 N ~~~52 ¢ KQ2
S 44 ~~3 ¢ AKQ2 S ~~~52 +QJ
E ~~~~~ a&aAQ5 E~~~~~aQ
W~~~~~ W~~~~~




e V3 % jrir- s _ 3 3
3 114 F 2FApERE le =R
L v v
Vo axq V-
#1: 13 TE1R(51.88) #2: 6 F#7(46.48) #3: 3 Oceans(40.83)
2 NS: HHZ FKEEGH0) 3 6 NS: #2128l BEXF(BAC) 19| VP:| 5.46 14.54| Total VP: 27.20 Rank:
EW: £25 % H#HfER(EAC) -19 EW: 82H# X #FFH(FH0) -3 IMP:| 15 29 8
_
# 21 » AQ42 4HN5 650 Mean: 3NN5 660 1.0 2 [[# 22 o AQ42 1SN2 110 Mean: 1CE-4 400 50 2
v AJ962 4HN4 620 640  4HS5 650 0.0 1 w7 2NS3150 210 1CE-3 300 30 3
o7 Dif: 30 NS:0 4HN5 650 0.0 8 + KT74 Dif: -40 NS:-3 2HW-2 200 00 1
» K93 IMP: 1 EW:1 4HN4 620 1.0 3 » AQT2 IMP: -1 EW:2 1CE-2 200 00 1
& KT985 4 76 & KT8 4 9753 3DS4 130 -20 2
v KQ4 v73 v 8642 —_ v AQ95 2NS3 150 20 1
+ Q65 | * T82 + J62 + A5 3DS3 10 30 1
& 74 & AT8652 & 875 & K63 1SN2 110 -3.0 1
¢VeN ,J3 ®IVEON L J6 1NN2 1200 30 1
N ~45~4 ¢T85 N 44~~2 ¢ KJT3 1NN1 90 3.0 1
S ~ 45~ 4 ¢ AKJ943 S 34~~2 4Q983
E ~~~~~aQ E ~~~~~ aJ%
W~~~~~ W~~~~~
# 23 » J873 2SE-1100 Mean: 3NN4 630 120 1 ||# 24 » 63 3SE4 -170 Mean: 4SE-2 100 60 1
v Q4 3NN4 630 -30  4HW-1 100 40 1 v QJT752 4SE5 -450 -140  3CE-2 100 60 1
+ AKJ9 Dif: -530 NS:4 2SE-1 100 40 1 ¢ A74 Dif: 280 NS:-1  4SE-1 50 50 1
» QJ8 IMP: -11 EW:-12 2CS2 90 30 1 a QJ IMP: 7 EW:7 3NW-1 50 50 1
s T2 + AKQ54 3CN-1 4100 20 1 ||a K74 » AQT52 3HN-1 50 3.0 1
v AK7 + v 98653 1SE1 80 -20 1 ||v K86 v4 3sW3 140 0.0 1
+ Q873 ¢ 65 3HW3 140 30 1 ||e JT986 ¢ 52 3SE3 140 00 3
& T975 S ®2 3HE3 140 30 1 ||a AT & K8654 3SE4 470 4.0 2
PEVEN A9 2HW3 140 30 5 PIVEN 4 JoB 4SE5 450 70 1
N 22~~2 ¢JT2 3DN-2 200 50 1[N ~~2~~ ¢ A93 4SE4 420 70 1
S 22~~2 4T42 S ~~2~~ 4KaQ3 5HXN-3  -500 -8.0 1
E ~~ 31~ aAK643 E 22~42 49732
W ~~31~ W 22~42
# 25 » 983 5DXN-4 -800 Mean: 4DXN-3  -500 50 1 ||# 26 » J87 3SW-1100 Mean: 4SW-1 100 9.0 1
073 4DXN-3 -500 -680 5CE6 620 20 1 v 983 4SW-1100 -300 3SW-1 100 9.0 1
+» AQJ82 Dif: -300 NS:-3 5HW5 650 1.0 2 ¢ J2 Dif: 0 NS:9 3Sw4 170 40 1
» 954 IMP: -7 EW:-5 4HES5 650 1.0 2 » JT943 IMP: 0 EW:9 3SW3 140 40 1
s AJ64 s T75 4HW6 680 0.0 2 ||a AQT942 4 53 3SE3 140 40 1
v QT942 v AKJ 4HE6 680 0.0 3 ||v AK7 + v T654 2sw3 140 40 2
+ K ¢ T9 5DXS-4 800 3.0 1 ||eT5 + KQ86 2SE3 140 40 1
& Q6 & AKT73 5DXN-4 800 -3.0 2 ||a K5 & Q72 2CXN-2 500 -50 1
PEVEN H,KQ2 PIVEN L, K6 3NE3 600 -7.0 2
N ~~~~~ 9865 N 1~~~~ vQJ2 4SW4 620 -8.0 1
S ~ ~ ~ ~ ~ 476543 S 1 ~~~~ o A9743 3NE4 630 -80 2
E 6~552 aJ8 E ~~333 &A86
W 6~552 W ~~333
# 27 a J52 5DWS5 -400 Mean: 4HS4 420 120 1 ||# 28 » AJ75 4HS-1 -100 Mean: 4HS4 620 110 2
v J9763 6CE-150 -230 6DXW-1 100 8.0 1 v K42 4HS-1-100 80  4HN4 620 110 1
¢T3 Dif: -450 NS:-5 6DW-1 50 7.0 1 + Q87 Dif: 0 NS:-5 3NN4 630 110 1
» A82 IMP: -10 EW:-7 6CE-1 50 7.0 2 & A93 IMP: 0 EW:5 4HS-1 100 50 6
- # AK876 6HXS-2 300 20 1 ||a T86 » Q43 3NS-1 100 50 1
v v K84 5DW5 400 50 5 ||v J875 | v3 4HS-2 200 7.0 1
+ AK986542 *QJ 5DXW5 550 8.0 3 [|e JT9 * A432 3NN-2 200 7.0 2
& QT653 & J97 & QJ8 & K7642
®e¢veN L Q1943 ¢VeN L K2
N ~~ 42~ ¢ AQT52 N ~~ 443 ¢ AQT96
S ~~42~ o7 S ~~443 ¢ K65
E 54~~~ aK4 E ~~~~~ aT5
W54~~~ W ~~~~~
# 29 » Q98 3NS4 630 Mean: 3NS5 660 40 2 ||# 30 a4 4SS5 450 Mean: 4SS6 480 50 4
073 3NS3600 510 3NS4 630 3.0 1 v AJT 2SS6 230 300 4SS5 450 40 1
¢ T96 Dif: 30 NS:3 3NS3 600 3.0 9 ¢ AT54 Dif: 220 NS:4 3NN5 460 40 1
» KT643 IMP: 1 EW:-3 5CS-1 100 120 1 » 98654 IMP: 6 EW:2 3SS6 230 20 1
» K743 N » T52 3NS-1 00 120 1 ||a A92 » J6 25S6 230 20 4
v AK654 v JT9 v 643 v 9875 2SS5 200 3.0 2
¢ J75 + ¢ 843 + K76 ¢ 9832 3NN-1 -50 -80 1
&9 & J872 & AT72 & KJ3
*eveN A6 ®+¢veN L, KQT8753
N 34~~2 Q82 N ~~~52 ¢ KQ2
S 44 ~~3 ¢ AKQ2 S ~~~52 +QJ
E ~~~~~ a&aAQ5 E~~~~~aQ
W~~~~~ W~~~~~




e V3 —~5 jrir- s _ 3 3
3 114 F 2FApERE le =R
L v v
Vo axq V-
#1: 13 TE1R(51.88) #2: 6 F#7(46.48) #3: 3 Oceans(40.83)
3 NS: FiigE KR GHO) 24 7 NS: RETE BRER(BAC) -24 VP:| 19.66 : 0.34 | Total VP: 40.83 Rank:
EW: 8B 18 ZEBEEIC) 28 EW: Z=jkF 2BRESN(BRO) -2 IMP:| 44 : O 3
_
# 21 » AQ42 4HN5 650 Mean: 3NN5 660 1.0 2 [[# 22 o AQ42 2HW-2 200 Mean: 1CE-4 400 50 2
v AJ962 4HN5 650 640  4HS5 650 0.0 1 w7 3DS3110 210 1CE-3 300 30 3
o7 Dif: 0 NS:0 4HN5 650 0.0 8 + KT74 Dif: 90 NS:0 2HW-2 200 00 1
» K93 IMP: 0 EW:0 4HN4 620 1.0 3 » AQT2 IMP: 3 EW:3 1CE-2 200 00 1
& KT985 4 76 & KT8 4 9753 3DS4 130 20 2
v KQ4 v73 v 8642 _— v AQ95 2NS3 150 20 1
+ Q65 | * T82 + J62 + A5 3DS3 10 30 1
& 74 & AT8652 & 875 & K63 1SN2 110 3.0 1
¢vVeN ,J3 ®IVEON L J6 1NN2 1200 30 1
N ~45~4 ¢T85 N 44~~2 ¢ KIT3 1NN1 90 3.0 1
S ~ 45~ 4 ¢ AKJ943 S 34~~2 4Q983
E ~~~~~aQ E ~~~~~ aJ%
W ~~~~~ W ~~~~~
# 23 » J873 1SE1-80 Mean: 3NN4 630 120 1 ||# 24 » 63 4SE-2100 Mean: 4SE-2 100 60 1
v Q4 3CN-1-100 -30  4HW-1 100 40 1 v QJT752 3SE3 -140 -140  3CE-2 100 60 1
+ AKJ9 Dif: 20 NS:-2 2SE-1 100 40 1 ¢ A74 Dif: 240 NS:6 4SE-1 50 50 1
» QJ8 IMP: 1 EW:2 2CS2 90 30 1 & QJ IMP: 6 EW:0 3NW-1 50 50 1
s T2 + AKQ54 3CN-1 4100 20 1 ||a K74 » AQT52 3HN-1 50 3.0 1
v AK7 + v 98653 1SE1 80 -20 1 ||v K86 v4 3sW3 140 0.0 1
+ Q873 ¢ 65 3HW3 140 30 1 ||e JT986 ¢ 52 3SE3 140 00 3
& T975 S ®2 3HE3 140 30 1 ||a AT & K8654 3SE4 470 4.0 2
PEVEN A9 2HW3 140 30 5 PIVEN 4 JoB 4SE5 450 70 1
N 22~~2 ¢JT2 3DN-2 200 50 1[N ~~2~~ ¢ A93 4SE4 420 70 1
S 22~~2 4T42 S ~~2~~ 4KaQ3 5HXN-3  -500 -8.0 1
E ~~ 31~ aAK643 E 22~42 49732
W ~~31~ W 22~42
# 25 » 983 4HE5 -650 Mean: 4DXN-3  -500 50 1 [|# 26 » J87 2SW3 -140 Mean: 4SW-1 100 9.0 1
073 4HE6 -680 -680 5CE6 620 20 1 v 983 3SE3 -140 -300  3SW-1 100 9.0 1
+» AQJ82 Dif: 30 NS:1 5HW5 650 1.0 2 ¢ J2 Dif: 0 NS:4 3SW4 170 40 1
» 954 IMP: 1 EW:0 4HES5 650 1.0 2 » JT943 IMP: 0 EW:-4 3SW3 140 40 1
s AJ64 s T75 4HW6 680 0.0 2 ||a AQT942 4 53 3SE3 140 40 1
v QT942 v AKJ 4HE6 680 00 3 ||e AK7 + v T654 2sw3 140 40 2
+ K ¢ T9 5DXS-4 800 3.0 1 ||eT5 + KQ86 2SE3 140 40 1
& Q6 & AKT73 5DXN-4 800 -3.0 2 ||a K5 & Q72 2CXN-2 500 -50 1
PEVEN H,KQ2 PIVEN L, K6 3NE3 600 -7.0 2
N ~~~~~ ¢865 N 1~~~~ vQJ2 4SW4 620 -8.0 1
S ~ ~ ~ ~ ~ 476543 S 1~~~~ ¢ A9743 3NE4 630 -80 2
E 6~552 aJ8 E ~~333 &A86
W 6~552 W ~~333
# 27 » J52 5DWS5 -400 Mean: 4HS4 420 120 1 [|# 28 » AJ75 4HS4 620 Mean: 4HS4 620 110 2
v J9763 5DW5 -400 -230 6DXW-1 100 8.0 1 v K42 3NN-2-200 80  4HN4 620 110 1
¢T3 Dif: 0 NS:-5 6DW-1 50 7.0 1 + Q87 Dif: 820 NS:11  3NN4 630 110 1
» A82 IMP: 0 EW:5 6CE-1 50 7.0 2 a A93 IMP: 13 EW:7 4HS-1 100 50 6
- # AK876 6HXS-2 300 20 1 ||a T86 » Q43 3NS-1 100 50 1
v v K84 5DW5 400 50 5 ||e J875 | v3 4HS-2 200 7.0 1
+ AK986542 *QJ 5DXW5 550 8.0 3 [|e JT9 * A432 3NN-2 200 7.0 2
& QT653 & J97 & QJ8 & K7642
®e¢veN L Q1943 ¢VeN L K2
N ~~ 42~ ¢ AQT52 N ~~ 443 ¢ AQT96
S ~~42~ o7 S ~~443 ¢ K65
E 54~~~ aK4 E ~~~~~ aT5
W54~~~ W ~~~~~
# 29 » Q98 3NS5 660 Mean: 3NS5 660 40 2 ||# 30 a4 4SS6 480 Mean: 4SS6 480 50 4
073 5CS-1-100 510 3NS4 630 3.0 1 v AJT 2SS5200 300 4SS5 450 40 1
¢ T96 Dif: 760 NS:4 3NS3 600 3.0 9 ¢ AT54 Dif: 280 NS:5 3NN5 460 40 1
» KT643 IMP: 13 EW:12 5CS-1 100 120 1 » 98654 IMP: 7 EW:3 3SS6 230 20 1
» K743 N » T52 3NS-1 00 120 1 ||a A92 s J6 25S6 230 20 4
v AK654 v JT9 v 643 v 9875 2SS5 200 -3.0 2
¢ J75 + ¢ 843 + K76 ¢ 9832 3NN-1 -50 -80 1
&9 & J872 & AT72 & KJ3
*eveN A6 ®+¢veN L, KQT8753
N 34~~2 Q82 N ~~~52 ¢ KQ2
S 44 ~~3 ¢ AKQ2 S ~~~52 +QJ
E ~~~~~ a&aAQ5 E~~~~~aQ
W~~~~~ W~~~~~




RSN '3 —~5 jrir- s _ 3 3
3 114 F 2FApERE le =R
L v v
Vo axq V-
#1: 13 TE1R(51.88) #2: 6 F#7(46.48) #3: 3 Oceans(40.83)
4 NS: EEM & J5EEAC) -18 1 NS: E}kiE RBRH(BIO) -11 VP:| 7.82 12.18| Total VP: 14.34 Rank:
EW: PhER #RAEEE0) 12 EW: $E{_#% MER(FC) 1 IMP:| 17 23 13
_ __
# 21 » AQ42 3NN5 -660 Mean: 3NN5 660 1.0 2 [[# 22 o AQ42 1CE-3 -300 Mean: 1CE-4 400 50 2
v AJ962 4HN4 -620 640  4HS5 650 0.0 1 w7 1CE-4-400 210  1CE-3 300 30 3
o7 Dif: -40 NS:-1  4HNS5 650 00 8 + KT74 Dif: 100 NS:5 2HW-2 200 00 1
» K93 IMP: -1 EW:-1 4HN4 620 1.0 3 » AQT2 IMP: 3 EW:-3 1CE-2 200 00 1
& KT985 4 76 & KT8 4 9753 3DS4 130 20 2
v KQ4 v73 v 8642 _— v AQ95 2NS3 150 20 1
+ Q65 | * T82 + J62 + A5 3DS3 10 30 1
& 74 & AT8652 & 875 & K63 1SN2 110 3.0 1
¢VSN L3 PIVEON L J6 1NN2 1200 30 1
N ~45~4 ¢T85 N 44~~2 ¢ KIT3 1NN1 90 3.0 1
S ~ 45~ 4 ¢ AKJ943 S 34~~2 4Q983
E ~~~~~aQ E ~~~~~ aJ%
W ~~~~~ W ~~~~~
# 23 » J873 2HW3 140 Mean: 3NN4 630 120 1 # 24 » 63 3SE4 170 Mean: 4SE-2 100 6.0 1
v Q4 2HW3 140 -30  4HW-1 100 40 1 v QJT752 3SW3 140 -140 3CE-2 100 60 1
+ AKJ9 Dif: 0 NS:-3 2SE-1 100 40 1 ¢ A74 Dif: 30 NS:0 4SE-1 50 50 1
» QJ8 IMP: 0 EW:3 2CS2 90 30 1 & QJ IMP:1 EW:1 3NW-1 50 50 1
s T2 + AKQ54 3CN-1 100 20 1 ||a K74 » AQT52 3HN-1 50 3.0 1
v AK7 + v 98653 1SE1 80 -20 1 ||v K86 v4 3sW3 140 0.0 1
+ Q873 ¢ 65 3HW3 140 30 1 ||e JT986 ¢ 52 3SE3 140 00 3
& T975 S ®2 3HE3 140 30 1 ||a AT & K8654 3SE4 470 4.0 2
PEVEN A9 2HW3 140 30 5 PIVEN 4 JoB 4SE5 450 70 1
N 22~~2 ¢JT2 3DN-2 200 50 1[N ~~2~~ ¢ A93 4SE4 420 70 1
S 22~~2 4T42 S ~~2~~ 4KaQ3 5HXN-3  -500 -8.0 1
E ~~ 31~ aAK643 E 22~42 49732
W ~~31~ W 22~42
# 25 » 983 5HW5 650 Mean: 4DXN-3  -500 50 1 [|# 26 » J87 2SW3 140 Mean: 4SW-1 100 9.0 1
073 4HE6 680 -680 5CE6 620 20 1 v 983 3NE3 600 -300 3SW-1 100 9.0 1
+» AQJ82 Dif: -30 NS:0 5HWS 650 1.0 2 ¢ J2 Dif: -460 NS:-7 3Sw4 170 40 1
» 954 IMP: -1 EW:-1 4HES5 650 1.0 2 » JT943 IMP: -10 EW:-4 3SW3 140 40 1
s AJ64 s T75 4HW6 680 0.0 2 ||a AQT942 453 3SE3 140 40 1
v QT942 v AKJ 4HE6 680 0.0 3 ||v AK7 + v T654 2sw3 140 40 2
+ K ¢ T9 5DXS-4 800 3.0 1 ||eT5 + KQ86 2SE3 140 40 1
& Q6 & AKT73 5DXN-4 800 -3.0 2 ||a K5 & Q72 2CXN-2 500 -50 1
PEVEN H,KQ2 PIVEN L, K6 3NE3 600 -7.0 2
N ~~~~~ ¢865 N1~~~~ ¢QJ2 4SW4 620 -8.0 1
S ~ ~ ~ ~ ~ 476543 S 1~~~~ ¢ A9743 3NE4 630 -80 2
E 6~552 aJ8 E ~~333 &A86
W 6~552 W ~~333
# 27 » J52 5DW5 400 Mean: 4HS4 420 120 1 [|# 28 » AJ75 4HS-1 100 Mean: 4HS4 620 110 2
v J9763 5DXW5 550 -230 6DXW-1 100 8.0 1 v K42 3NS-1100 80  4HN4 620 110 1
¢T3 Dif: -150 NS:-8 6DW-1 50 7.0 1 + Q87 Dif: 0 NS:-5 3NN4 630 110 1
» A82 IMP: -4 EW:5 6CE-1 50 7.0 2 a A93 IMP: 0 EW:5 4HS-1 100 50 6
- # AK876 6HXS-2 300 20 1 ||a T86 » Q43 3NS-1 100 50 1
v v K84 5DW5 400 50 5 ||e J875 | v3 4HS-2 200 7.0 1
+ AK986542 *QJ 5DXW5 550 8.0 3 ||e JT9 * A432 3NN-2 200 7.0 2
& QT653 & J97 & QJ8 & K7642
PIVEN ,QT943 ¢Ve®N , K92
N ~~ 42~ ¢ AQT52 N ~~ 443 ¢ AQT96
S ~~42~ o7 S ~~443 ¢ K65
E 54~~~ aK4 E ~~~~~ aT5
W54~~~ W ~~~~~
# 29 » Q98 3NS-1100 Mean: 3NS5 660 40 2 ||# 30 a4 4SS6 -480 Mean: 4SS6 480 50 4
073 3NS5 -660 510 3NS4 630 3.0 1 v AJT 2SS5-200 300 4SS5 450 40 1
¢ T96 Dif: 760 NS:4 3NS3 600 3.0 9 ¢ AT54 Dif: -280 NS:-3 3NN5 460 40 1
» KT643 IMP: 13 EW:12 5CS-1 100 120 1 » 98654 IMP: -7 EW:-5 3SS6 230 20 1
» K743 N » T52 3NS-1 00 120 1 ||a A92 » J6 25S6 230 20 4
v AK654 v JT9 v 643 v 9875 2SS5 200 -3.0 2
¢ J75 + ¢ 843 + K76 ¢ 9832 3NN-1 -50 -80 1
&9 & J872 & AT72 & KJ3
P¢VESN L, AJ ®**Ve®N , KQT8753
N 34~~2 Q82 N ~~~52 ¢ KQ2
S 44 ~~3 ¢ AKQ2 S ~~~52 +QJ
E ~~~~~ a&aAQ5 E~~~~~aQ
W~~~~~ W~~~~~




RSN '3 —~5 jrir- s _ 3 3
3 114 F 2FApERE le =R
L v v
Vo axq V-
#1: 13 TE1R(51.88) #2: 6 F#7(46.48) #3: 3 Oceans(40.83)
5 NS: B BERSEE0) -5 9 NS: 5 B HI(PAC) -24 VP:| 14.28 : 5.72 | Total VP: 25.80 Rank:
EW: BESF R BB REIC) 24 EW: 2177 SR#9(FH0) 5 IMP:| 19 6 10
_
# 21 » AQ42 4HN5 650 Mean: 3NN5 660 1.0 2 ||# 22 » AQ42 1NN1 90 Mean: 1CE-4 400 50 2
v AJ962 4HN4 620 640  4HS5 650 0.0 1 w7 1NN2120 210 1CE-3 300 30 3
o7 Dif: 30 NS:0 4HN5 650 00 8 + KT74 Dif: -30 NS:-3 2HW-2 200 00 1
» K93 IMP: 1 EW:1 4HN4 620 1.0 3 » AQT2 IMP: -1 EW:3 1CE-2 200 00 1
& KT985 4 76 & KT8 4 9753 3DS4 130 -20 2
v KQ4 v 73 v 8642 _— v AQ95 2NS3 150 2.0 1
+ Q65 | * T82 + J62 + A5 3DS3 10 30 1
& 74 & AT8652 & 875 & K63 1SN2 110 -3.0 1
¢vVeN ,J3 ®IVEON L J6 1NN2 1200 30 1
N ~45~4 ¢T85 N 44~~2 ¢ KIT3 1NN1 90 3.0 1
S ~ 45~ 4 ¢ AKJ943 S 34~~2 4Q983
E ~~~~~aQ E ~~~~~ aJ%
W~~~~~ W~~~~~
# 23 » J873 4HW-1100 Mean: 3NN4 630 120 1 ||# 24 » 63 5HXN-3 -500 Mean: 4SE-2 100 60 1
v Q4 2HW3 -140 -30  4HW-1 100 40 1 v QJT752 4SE4 -420 -140  3CE-2 100 60 1
+ AKJ9 Dif: 240 NS:4 2SE-1 100 40 1 ¢ A74 Dif: -80 NS:-8 4SE-1 50 50 1
» QJ8 IMP: 6 EW:3 2CS2 90 30 1 & QJ IMP: -2 EW:7 3NW-1 50 50 1
aT2 + AKQ54 3CN-1 100 20 1 ||a K74 & AQT52 3HN-1 50 3.0 1
v AK7 + v 98653 1SE1 80 -20 1 ||v K86 v4 3sW3 140 0.0 1
+ Q873 ¢ 65 3HW3 140 30 1 [|e JT986 ¢ 52 3SE3 140 00 3
& T975 S ®2 3HE3 140 30 1 ||a AT & K8654 3SE4 470 1.0 2
PEVEN A9 2HW3 140 30 5 PIVEN 4 JoB 4SE5 450 70 1
N 22~~2 ¢JT2 3DN-2 200 50 1[N ~~2~~ ¢ A93 4SE4 420 70 1
S 22~~2 oT42 S ~~2~~ 4KaQ3 5HXN-3  -500 -8.0 1
E ~~ 31~ aAK643 E 22~42 49732
W ~~31~ W 22~42
# 25 » 983 4HE5 -650 Mean: 4DXN-3  -500 50 1 [|# 26 » J87 3NE4 -630 Mean: 4SW-1 100 9.0 1
073 5CE6 -620 -680 5CE6 620 20 1 v 983 3NE3 -600 -300 3SW-1 100 9.0 1
+» AQJ82 Dif: -30 NS:1  5HWS 650 1.0 2 ¢ J2 Dif: -30 NS:-8 3SW4 170 40 1
» 954 IMP: -1 EW:-2 4HES5 650 1.0 2 » JT943 IMP: -1 EW:7 3SW3 140 40 1
s AJ64 s T75 4HW6 680 0.0 2 ||a AQT942 453 3SE3 140 40 1
v QT942 v AKJ 4HE6 680 00 3 ||e AK7 + v T654 2sw3 140 40 2
+ K ¢ T9 5DXS-4 800 3.0 1 ||eT5 + KQ86 2SE3 140 40 1
& Q6 & AKT73 5DXN-4 800 -3.0 2 ||a K5 & Q72 2CXN-2 500 -50 1
PEVEN H,KQ2 PIVEN L, K6 3NE3 600 -7.0 2
N ~~~~~ ¢865 N1~~~~ ¢QJ2 4SW4 620 -80 1
S ~ ~ ~ ~ ~ 476543 S 1~~~~ ¢ A9743 3NE4 630 -80 2
E 6~552 aJ8 E ~~333 &A86
W 6~552 W ~~333
# 27 » J52 6CE-150 Mean: 4HS4 420 120 1 [|# 28 » AJ75 4HS-1 -100 Mean: 4HS4 620 110 2
v J9763 5DXWS5 -550 -230 6DXW-1 100 8.0 1 v K42 4HS-1-100 80  4HN4 620 110 1
¢T3 Dif: 600 NS:7 6DW-1 50 7.0 1 + Q87 Dif: 0 NS:-5 3NN4 630 110 1
» A82 IMP: 12 EW:8 6CE-1 50 7.0 2 a A93 IMP: 0 EW:5 4HS-1 100 50 6
- # AK876 6HXS-2 300 20 1 ||a T86 » Q43 3NS-1 100 50 1
v v K84 5DW5 400 50 5 ||e J875 | v3 4HS-2 200 70 1
+ AK986542 *QJ 5DXW5 550 8.0 3 ||e JT9 * A432 3NN-2 200 7.0 2
& QT653 & J97 & QJ8 & K7642
®e¢veN L Q1943 ¢VeN L K2
N ~~ 42~ ¢ AQT52 N ~~ 443 ¢ AQT96
S ~~42~ o7 S ~~443 ¢ K65
E 54~~~ aK4 E ~~~~~ aT5
W54~~~ W ~~~~~
# 29 » Q98 3NS3 600 Mean: 3NS5 660 40 2 ||# 30 a4 3NN5 460 Mean: 4SS6 480 50 4
w73 3NS3600 510 3NS4 630 3.0 1 v AJT 4SS6 480 300 4SS5 450 40 1
¢ T96 Dif: 0 NS:3 3NS3 600 3.0 9 ¢ AT54 Dif: -20 NS:4 3NN5 460 40 1
» KT643 IMP: 0 EW:-3 5CS-1 100 120 1 » 98654 IMP: -1 EW:-5 3SS6 230 20 1
» K743 N » T52 3NS-1 00 120 1 ||a A92 s J6 25S6 230 20 4
v AK654 v JT9 v 643 v 9875 2SS5 200 3.0 2
¢ J75 + ¢ 843 + K76 ¢ 9832 3NN-1 -50 -80 1
&9 & J872 & AT72 & KJ3
*eveN A6 ®+¢veN L, KQT8753
N 34~~2 Q82 N ~~~52 ¢ KQ2
S 44 ~~3 ¢ AKQ2 S ~~~52 +QJ
E ~~~~~ a&aAQ5 E~~~~~aQ
W~~~~~ W~~~~~




RSN '3 —~5 jrir- s _ 3 3
3 114 F 2FApERE le =R
L v v
Vo axq V-
#1: 13 TE1R(51.88) #2: 6 F#7(46.48) #3: 3 Oceans(40.83)
6 NS: #1841 EESSEEAC) 19 2 NS: EEZ RENE(BAO) 3 VP:| 14.54 : 5.46 | Total VP: 46.48 Rank:
EW: £k #ifFEEI0) -3 EW: 57 M8 (EFAC) 1 IMP:| 29 15 2
_
# 21 » AQ42 4HN5 -650 Mean: 3NN5 660 1.0 2 [[# 22 o AQ42 1SN2 -110 Mean: 1CE-4 400 50 2
v AJ962 4HN4 -620 640  4HS5 650 0.0 1 w7 2NS3 -150 210 1CE-3 300 30 3
o7 Dif: -30 NS:-1  4HNS5 650 00 8 + KT74 Dif: 40 NS:-2 2HW-2 200 00 1
» K93 IMP: -1 EW:0 4HN4 620 1.0 3 » AQT2 IMP: 1 EW:3 1CE-2 200 00 1
& KT985 4 76 & KT8 4 9753 3DS4 130 20 2
v KQ4 v73 v 8642 _— v AQ95 2NS3 150 20 1
+ Q65 | * T82 + J62 + A5 3DS3 10 30 1
& 74 & AT8652 & 875 & K63 1SN2 110 3.0 1
¢vVeN ,J3 ®IVEON L J6 1NN2 1200 30 1
N ~45~4 ¢T85 N 44~~2 ¢ KIT3 1NN1 90 3.0 1
S ~ 45~ 4 ¢ AKJ943 S 34~~2 4Q983
E ~~~~~aQ E ~~~~~ aJ%
W ~~~~~ W ~~~~~
# 23 » J873 2SE-1 -100 Mean: 3NN4 630 120 1 # 24 » 63 3SE4 170 Mean: 4SE-2 100 6.0 1
v Q4 3NN4 -630 -30  4HW-1 100 40 1 v QJT752 4SE5 450 -140  3CE-2 100 60 1
+ AKJ9 Dif: 530 NS:12 2SE-1 100 40 1 ¢ A74 Dif: -280 NS:-7 4SE-1 50 50 1
» QJ8 IMP: 11 EW:-4 2CS2 90 30 1 & QJ IMP: -7 EW:1  3NW-1 50 50 1
s T2 + AKQ54 3CN-1 100 20 1 ||a K74 » AQT52 3HN-1 50 3.0 1
v AK7 + v 98653 1SE1 80 -20 1 ||v K86 v4 3sW3 140 0.0 1
+ Q873 ¢ 65 3HW3 140 30 1 ||e JT986 ¢ 52 3SE3 140 00 3
& T975 S ®2 3HE3 140 30 1 ||a AT & K8654 3SE4 470 4.0 2
PEVEN A9 2HW3 140 30 5 PIVEN 4 JoB 4SE5 450 70 1
N 22~~2 ¢JT2 3DN-2 200 50 1[N ~~2~~ ¢ A93 4SE4 420 70 1
S 22~~2 4T42 S ~~2~~ 4KaQ3 5HXN-3  -500 -8.0 1
E ~~ 31~ aAK643 E 22~42 49732
W ~~31~ W 22~42
# 25 » 983 5DXN-4 800 Mean: 4DXN-3  -500 50 1 [|# 26 » J87 3SW-1-100 Mean: 4SW-1 100 9.0 1
073 4DXN-3 500 -680 5CE6 620 20 1 v 983 4SW-1-100 -300 3SW-1 100 9.0 1
+» AQJ82 Dif: 300 NS:5 5HW5 650 1.0 2 ¢ J2 Dif: 0 NS:9 3Sw4 170 40 1
» 954 IMP: 7 EW:3 4HE5 650 1.0 2 » JT943 IMP: 0 EW:-9 3SW3 140 40 1
s AJ64 s T75 4HW6 680 0.0 2 ||a AQT942 453 3SE3 140 40 1
v QT942 v AKJ 4HE6 680 00 3 ||e AK7 + v T654 2sw3 140 40 2
+ K ¢ T9 5DXS-4 800 3.0 1 ||eT5 + KQ86 2SE3 140 40 1
& Q6 & AKT73 5DXN-4 800 -3.0 2 ||a K5 & Q72 2CXN-2 500 -50 1
PEVEN H,KQ2 PIVEN L, K6 3NE3 600 -7.0 2
N ~~~~~ ¢865 N1~~~~ ¢QJ2 4SW4 620 -8.0 1
S ~ ~ ~ ~ ~ 476543 S 1~~~~ ¢ A9743 3NE4 630 -80 2
E 6~552 aJ8 E ~~333 &A86
W 6~552 W ~~333
# 27 » J52 5DW5 400 Mean: 4HS4 420 120 1 [|# 28 » AJ75 4HS-1 100 Mean: 4HS4 620 110 2
v J9763 6CE-1-50 -230 6DXW-1 100 8.0 1 v K42 4HS-1100 80  4HN4 620 110 1
¢T3 Dif: 450 NS:7 6DW-1 50 7.0 1 + Q87 Dif: 0 NS:-5 3NN4 630 110 1
» A82 IMP: 10 EW:5 6CE-1 50 7.0 2 a A93 IMP: 0 EW:5 4HS-1 100 50 6
- # AK876 6HXS-2 300 20 1 ||a T86 » Q43 3NS-1 100 50 1
v v K84 5DW5 400 50 5 ||e J875 | v3 4HS-2 200 7.0 1
+ AK986542 *QJ 5DXW5 550 8.0 3 ||e JT9 * A432 3NN-2 200 7.0 2
& QT653 & J97 & QJ8 & K7642
®e¢veN L Q1943 ¢VeN L K2
N ~~ 42~ ¢ AQT52 N ~~ 443 ¢ AQT96
S ~~42~ o7 S ~~443 ¢ K65
E 54~~~ aK4 E ~~~~~ aT5
W54~~~ W ~~~~~
# 29 » Q98 3NS4 -630 Mean: 3NS5 660 40 2 ||# 30 a4 4SS5 -450 Mean: 4SS6 480 50 4
073 3NS3 -600 510 3NS4 630 3.0 1 v AJT 2SS6 -230 300 4SS5 450 40 1
¢ T96 Dif: -30 NS:3 3NS3 600 3.0 9 ¢ AT54 Dif: -220 NS:-2 3NN5 460 40 1
» KT643 IMP: -1 EW:-3 5CS-1 100 120 1 » 98654 IMP: -6 EW:-4 3SS6 230 20 1
» K743 N » T52 3NS-1 00 120 1 ||a A92 » J6 25S6 230 20 4
v AK654 v JT9 v 643 v 9875 2SS5 200 -3.0 2
¢ J75 + ¢ 843 + K76 ¢ 9832 3NN-1 -50 -80 1
&9 & J872 & AT72 & KJ3
*eveN A6 ®+¢veN L, KQT8753
N 34~~2 Q82 N ~~~52 ¢ KQ2
S 44 ~~3 ¢ AKQ2 S ~~~52 +QJ
E ~~~~~ a&aAQ5 E~~~~~aQ
W~~~~~ W~~~~~




e V3 —~5 jrir- s _ 3 3
3 114 F 2FApERE le =R
L v v
Vo axq V-
#1: 13 TE1R(51.88) #2: 6 F#7(46.48) #3: 3 Oceans(40.83)
7 NS: BA4TE BEEEEIC) -28 3 NS: &5 REMH(BIO) 24| VP:| 0.34 19.66 | Total VP: 26.00 Rank:
EW: 3% FpEgLBEI0) 24 EW: 81818 EBUR(BAC) 2 IMP:| 0 ;44 9
_
# 21 » AQ42 4HN5 -650 Mean: 3NN5 660 1.0 2 [[# 22 o AQ42 2HW-2 -200 Mean: 1CE-4 400 50 2
v AJ962 4HN5 -650 640  4HS5 650 0.0 1 w7 3DS3-110 210 1CE-3 300 30 3
o7 Dif: 0 NS:0 4HN5 650 0.0 8 + KT74 Dif: -90 NS:-3 2HW-2 200 00 1
» K93 IMP: 0 EW:0 4HN4 620 1.0 3 » AQT2 IMP: -3 EW:0 1CE-2 200 00 1
& KT985 4 76 & KT8 4 9753 3DS4 130 20 2
v KQ4 v73 v 8642 _— v AQ95 2NS3 150 20 1
+ Q65 | * T82 + J62 + A5 3DS3 10 30 1
& 74 & AT8652 & 875 & K63 1SN2 110 3.0 1
¢vVeN ,J3 ®IVEON L J6 1NN2 1200 30 1
N ~45~4 ¢T85 N 44~~2 ¢ KIT3 1NN1 90 3.0 1
S ~ 45~ 4 ¢ AKJ943 S 34~~2 4Q983
E ~~~~~aQ E ~~~~~ aJ%
W ~~~~~ W ~~~~~
# 23 » J873 1SE1 80 Mean: 3NN4 630 120 1 ||# 24 » 63 4SE-2 -100 Mean: 4SE-2 100 60 1
v Q4 3CN-1100 -30  4HW-1 100 40 1 v QJT752 3SE3 140 -140 3CE-2 100 60 1
+ AKJ9 Dif: -20 NS:-2 2SE-1 100 40 1 ¢ A74 Dif: -240 NS:0 4SE-1 50 50 1
» QJ8 IMP: -1 EW:2 2CS2 90 30 1 & QJ IMP: -6 EW:-6 3NW-1 50 50 1
s T2 + AKQ54 3CN-1 4100 20 1 ||a K74 » AQT52 3HN-1 50 3.0 1
v AK7 + v 98653 1SE1 80 -20 1 ||v K86 v4 3sW3 140 0.0 1
+ Q873 ¢ 65 3HW3 140 30 1 ||e JT986 ¢ 52 3SE3 140 00 3
& T975 S ®2 3HE3 140 30 1 ||a AT & K8654 3SE4 470 4.0 2
PEVEN A9 2HW3 140 30 5 PIVEN 4 JoB 4SE5 450 70 1
N 22~~2 ¢JT2 3DN-2 200 50 1[N ~~2~~ ¢ A93 4SE4 420 70 1
S 22~~2 4T42 S ~~2~~ 4KaQ3 5HXN-3  -500 -8.0 1
E ~~ 31~ aAK643 E 22~42 49732
W ~~31~ W 22~42
# 25 » 983 4HE5 650 Mean: 4DXN-3  -500 50 1 ||# 26 » J87 2SW3 140 Mean: 4SW-1 100 9.0 1
073 4HE6 680 -680 5CE6 620 20 1 v 983 3SE3 140 -300 3SW-1 100 9.0 1
+» AQJ82 Dif: -30 NS:0 5HWS 650 1.0 2 ¢ J2 Dif: 0 NS:4 3SW4 170 40 1
» 954 IMP: -1 EW:-1 4HES5 650 1.0 2 » JT943 IMP: 0 EW:-4 3SW3 140 40 1
s AJ64 s T75 4HW6 680 0.0 2 ||a AQT942 4 53 3SE3 140 40 1
v QT942 v AKJ 4HE6 680 00 3 ||e AK7 + v T654 2sw3 140 40 2
+ K ¢ T9 5DXS-4 800 3.0 1 ||eT5 + KQ86 2SE3 140 40 1
& Q6 & AKT73 5DXN-4 800 -3.0 2 ||a K5 & Q72 2CXN-2 500 -50 1
PEVEN H,KQ2 PIVEN L, K6 3NE3 600 -7.0 2
N ~~~~~ ¢865 N 1~~~~ vQJ2 4SW4 620 -8.0 1
S ~ ~ ~ ~ ~ 476543 S 1~~~~ ¢ A9743 3NE4 630 -80 2
E 6~552 aJ8 E ~~333 &A86
W 6~552 W ~~333
# 27 » J52 5DW5 400 Mean: 4HS4 420 120 1 [|# 28 » AJ75 4HS4 -620 Mean: 4HS4 620 110 2
v J9763 5DW5400 -230 6DXW-1 100 8.0 1 v K42 3NN-2200 80  4HN4 620 110 1
¢T3 Dif: 0 NS:-5 6DW-1 50 7.0 1 + Q87 Dif: -820 NS:-7 3NN4 630 110 1
» A82 IMP: 0 EW:5 6CE-1 50 7.0 2 a A93 IMP: -13 EW:-11 4HS-1 100 50 6
- # AK876 6HXS-2 300 20 1 ||a T86 » Q43 3NS-1 100 50 1
v v K84 5DW5 400 50 5 ||e J875 | v3 4HS-2 200 7.0 1
+ AK986542 *QJ 5DXW5 550 8.0 3 [|e JT9 * A432 3NN-2 200 7.0 2
& QT653 & J97 & QJ8 & K7642
®e¢veN L Q1943 ¢VeN L K2
N ~~ 42~ ¢ AQT52 N ~~ 443 ¢ AQT96
S ~~42~ o7 S ~~443 ¢ K65
E 54~~~ aK4 E ~~~~~ aT5
W54~~~ W ~~~~~
# 29 » Q98 3NS5 -660 Mean: 3NS5 660 40 2 ||# 30 a4 4SS6 -480 Mean: 4SS6 480 50 4
073 5CS-1100 510 3NS4 630 3.0 1 v AJT 2SS5-200 300 4SS5 450 40 1
¢ T96 Dif: -760 NS:-12 3NS3 600 3.0 9 ¢ AT54 Dif: -280 NS:-3 3NN5 460 40 1
» KT643 IMP: -13 EW:-4 5CS-1 100 120 1 » 98654 IMP: -7 EW:-5 3SS6 230 20 1
» K743 N » T52 3NS-1 00 120 1 ||a A92 s J6 25S6 230 20 4
v AK654 v JT9 v 643 v 9875 2SS5 200 -3.0 2
¢ J75 + ¢ 843 + K76 ¢ 9832 3NN-1 -50 -80 1
&9 & J872 & AT72 & KJ3
*eveN A6 ®+¢veN L, KQT8753
N 34~~2 Q82 N ~~~52 ¢ KQ2
S 44 ~~3 ¢ AKQ2 S ~~~52 +QJ
E ~~~~~ a&aAQ5 E~~~~~aQ
W~~~~~ W~~~~~




JES S < 2
3 114 ¥ Z 2ABERE Bl = RS 3
L v v
Vo axq V-
#1: 13 TE1R(51.88) #2: 6 F#7(46.48) #3: 3 Oceans(40.83)
8 NS: Bre [A528H(FH0) -9 1 3 NS: &85 Bt Ay(BAC) 12 VP:| 4.71 15.29| Total VP: 30.84 Rank:
EW: MiEE E=25EEI0) -12 EW: RiE5 BEE(FHO) 9 IMP:| 15 32 6
_
# 21 » AQ42 4HS5 650 Mean: 3NN5 660 1.0 2 ||# 22 » AQ42 3DS4 130 Mean: 1CE-4 400 50 2
v AJ962 4HN5 650 640  4HS5 650 0.0 1 w7 1CE-3300 210 1CE-3 300 30 3
o7 Dif: 0 NS:0 4HN5 650 0.0 8 + KT74 Dif: -170 NS:-2 2HW-2 200 00 1
» K93 IMP: 0 EW:0 4HN4 620 1.0 3 » AQT2 IMP: -5 EW:-3 1CE-2 200 00 1
& KT985 4 76 & KT8 4 9753 3DS4 130 20 2
v KQ4 v73 v 8642 _— v AQ95 2NS3 150 20 1
+ Q65 | * T82 + J62 + A5 3DS3 10 30 1
& 74 & AT8652 & 875 & K63 1SN2 110 3.0 1
¢vVeN ,J3 ®IVEON L J6 1NN2 1200 30 1
N ~45~4 ¢T85 N 44~~2 ¢ KIT3 1NN1 90 3.0 1
S ~ 45~ 4 ¢ AKJ943 S 34~~2 4Q983
E ~~~~~aQ E ~~~~~ aJ%
W ~~~~~ W ~~~~~
# 23 » J873 3DN-2 -200 Mean: 3NN4 630 120 1 ||# 24 » 63 4SE-150 Mean: 4SE-2 100 60 1
v Q4 2HW3 -140 -30  4HW-1 100 40 1 v QJT752 3SE3 -140 -140  3CE-2 100 60 1
+ AKJ9 Dif: -60 NS:-5 2SE-1 100 40 1 ¢ A74 Dif: 190 NS:5 4SE-1 50 50 1
» QJ8 IMP: -2 EW:3 2CS2 90 30 1 & QJ IMP: 5 EW:0 3NW-1 50 50 1
s T2 + AKQ54 3CN-1 100 20 1 ||a K74 » AQT52 3HN-1 50 3.0 1
v AK7 + v 98653 1SE1 80 -20 1 ||v K86 v4 3sW3 140 0.0 1
+ Q873 ¢ 65 3HW3 140 30 1 ||e JT986 ¢ 52 3SE3 140 00 3
& T975 S ®2 3HE3 140 30 1 ||a AT & K8654 3SE4 470 4.0 2
PEVEN A9 2HW3 140 30 5 PIVEN 4 JoB 4SE5 450 70 1
N 22~~2 ¢JT2 3DN-2 200 50 1[N ~~2~~ ¢ A93 4SE4 420 70 1
S 22~~2 4T42 S ~~2~~ 4KaQ3 5HXN-3  -500 -8.0 1
E ~~ 31~ aAK643 E 22~42 49732
W ~~31~ W 22~42
# 25 » 983 5DXS-4 -800 Mean: 4DXN-3  -500 5.0 1 ||# 26 » J87 3SW4 -170 Mean: 4SW-1 100 9.0 1
073 4HW6 -680 -680 5CE6 620 20 1 v 983 3NE4 -630 -300 3SW-1 100 9.0 1
+» AQJ82 Dif: -120 NS:-3 5HW5 650 1.0 2 ¢ J2 Dif: 460 NS:4 3SW4 170 40 1
» 954 IMP: -3 EW:0 4HES5 650 1.0 2 » JT943 IMP: 10 EW:8 3SW3 140 40 1
s AJ64 s T75 4HW6 680 0.0 2 ||a AQT942 453 3SE3 140 40 1
v QT942 v AKJ 4HE6 680 00 3 ||e AK7 + v T654 2sw3 140 40 2
+ K ¢ T9 5DXS-4 800 3.0 1 ||eT5 + KQ86 2SE3 140 40 1
& Q6 & AKT73 5DXN-4 800 -3.0 2 ||a K5 & Q72 2CXN-2 500 -50 1
PEVEN H,KQ2 PIVEN L, K6 3NE3 600 -7.0 2
N ~~~~~ ¢865 N1~~~~ ¢QJ2 4SW4 620 -8.0 1
S ~ ~ ~ ~ ~ 476543 S 1~~~~ ¢ A9743 3NE4 630 -80 2
E 6~552 aJ8 E ~~333 &A86
W 6~552 W ~~333
# 27 » J52 6HXS-2 -300 Mean: 4HS4 420 120 1 [|# 28 » AJ75 4HS-2 -200 Mean: 4HS4 620 110 2
v J9763 6DXW-1100 -230 6DXW-1 100 8.0 1 v K42 4HS4 620 80  4HN4 620 110 1
¢T3 Dif: -400 NS:-2 6DW-1 50 7.0 1 + Q87 Dif: -820 NS:-7 3NN4 630 110 1
» A82 IMP: -9 EW:-8 6CE-1 50 7.0 2 a A93 IMP: -13 EW:-11 4HS-1 100 50 6
- # AK876 6HXS-2 300 20 1 ||a T86 » Q43 3NS-1 100 50 1
v v K84 5DW5 400 50 5 ||e J875 | v3 4HS-2 200 7.0 1
+ AK986542 *QJ 5DXW5 550 8.0 3 [|e JT9 * A432 3NN-2 200 7.0 2
& QT653 & J97 & QJ8 & K7642
®e¢veN L Q1943 ¢VeN L K2
N ~~ 42~ ¢ AQT52 N ~~ 443 ¢ AQT96
S ~~42~ o7 S ~~443 ¢ K65
E 54~~~ aK4 E ~~~~~ aT5
W54~~~ W ~~~~~
# 29 » Q98 3NS3 600 Mean: 3NS5 660 40 2 ||# 30 a4 2SS6 230 Mean: 4SS6 480 50 4
073 3NS3600 510 3NS4 630 3.0 1 v AJT 2SS6 230 300 4SS5 450 40 1
¢ T96 Dif: 0 NS:3 3NS3 600 3.0 9 ¢ AT54 Dif: 0 NS:-2 3NN5 460 40 1
» KT643 IMP: 0 EW:-3 5CS-1 100 120 1 » 98654 IMP: 0 EW:2 3SS6 230 20 1
» K743 N » T52 3NS-1 00 120 1 ||a A92 s J6 25S6 230 20 4
v AK654 v JT9 v 643 v 9875 2SS5 200 -3.0 2
¢ J75 + ¢ 843 + K76 ¢ 9832 3NN-1 -50 -80 1
&9 & J872 & AT72 & KJ3
*eveN A6 ®+¢veN L, KQT8753
N 34~~2 Q82 N ~~~52 ¢ KQ2
S 44 ~~3 ¢ AKQ2 S ~~~52 +QJ
E ~~~~~ a&aAQ5 E~~~~~aQ
W~~~~~ W~~~~~




e V3 —~5 jrir- s _ 3 3
3 114 F 2FApERE le =R
L v v
Vo axq V-
#1: 13 TE1R(51.88) #2: 6 F#7(46.48) #3: 3 Oceans(40.83)
9 NS: BRI BREHIEAC) -24 5 NS: FRIEE €155 (BAO) -5 VP:| 5.72 14.28 | Total VP: 13.78 Rank:
EW: Z0780 = 589(BF0) 5 EW: [RFR 58 R(BAC) 24 IMP:| 6 : 19 14
_
# 21 » AQ42 4HN5 -650 Mean: 3NN5 660 1.0 2 ||# 22 » AQ42 1NN1 -90 Mean: 1CE-4 400 50 2
v AJ962 4HN4 -620 640  4HS5 650 0.0 1 w7 1NN2 -120 210 1CE-3 300 30 3
o7 Dif: -30 NS:-1  4HNS5 650 0.0 8 + KT74 Dif: 30 NS:-3 2HW-2 200 00 1
» K93 IMP: -1 EW:0 4HN4 620 1.0 3 » AQT2 IMP: 1 EW:3 1CE-2 200 00 1
& KT985 4 76 & KT8 4 9753 3DS4 130 -20 2
v KQ4 v73 v 8642 —_ v AQ95 2NS3 150 20 1
+ Q65 | * T82 + J62 + A5 3DS3 10 30 1
& 74 & AT8652 & 875 & K63 1SN2 110 -3.0 1
¢VeN ,J3 ®IVEON L J6 1NN2 1200 30 1
N ~45~4 ¢T85 N 44~~2 ¢ KJT3 1NN1 90 3.0 1
S ~ 45~ 4 ¢ AKJ943 S 34~~2 4Q983
E ~~~~~aQ E ~~~~~ aJ%
W ~~~~~ W ~~~~~
# 23 » J873 4HW-1-100 Mean: 3NN4 630 120 1 ||# 24 » 63 5HXN-3 500 Mean: 4SE-2 100 60 1
v Q4 2HW3 140 -30  4HW-1 100 40 1 v QJT752 4SE4 420 -140  3CE-2 100 60 1
+ AKJ9 Dif: -240 NS:-3 2SE-1 100 40 1 ¢ A74 Dif: 80 NS:-7 4SE-1 50 50 1
» QJ8 IMP: -6 EW:-4 2CS2 90 30 1 a QJ IMP: 2 EW:8 3NW-1 50 50 1
s T2 + AKQ54 3CN-1 4100 20 1 ||a K74 » AQT52 3HN-1 50 3.0 1
v AK7 + v 98653 1SE1 80 -20 1 ||v K86 v4 3sW3 140 0.0 1
+ Q873 ¢ 65 3HW3 140 30 1 ||e JT986 ¢ 52 3SE3 140 00 3
& T975 S ®2 3HE3 140 30 1 ||a AT & K8654 3SE4 470 4.0 2
PEVEN A9 2HW3 140 30 5 PIVEN 4 JoB 4SE5 450 70 1
N 22~~2 ¢JT2 3DN-2 200 50 1[N ~~2~~ ¢ A93 4SE4 420 70 1
S 22~~2 4T42 S ~~2~~ 4KaQ3 5HXN-3  -500 -8.0 1
E ~~ 31~ aAK643 E 22~42 49732
W ~~31~ W 22~42
# 25 » 983 4HE5 650 Mean: 4DXN-3  -500 50 1 ||# 26 » J87 3NE4 630 Mean: 4SW-1 100 9.0 1
073 5CE6 620 -680 5CE6 620 20 1 v 983 3NE3 600 -300 3SW-1 100 9.0 1
+» AQJ82 Dif: 30 NS:2 5HW5 650 1.0 2 ¢ J2 Dif: 30 NS:-7 3sw4 170 40 1
» 954 IMP: 1 EW:-1 4HES5 650 1.0 2 » JT943 IMP: 1 EW:8 3SW3 140 40 1
s AJ64 s T75 4HW6 680 0.0 2 ||a AQT942 4 53 3SE3 140 40 1
v QT942 v AKJ 4HE6 680 0.0 3 ||v AK7 + v T654 2sw3 140 40 2
+ K ¢ T9 5DXS-4 800 3.0 1 ||eT5 + KQ86 2SE3 140 40 1
& Q6 & AKT73 5DXN-4 800 -3.0 2 ||a K5 & Q72 2CXN-2 500 -50 1
PEVEN H,KQ2 PIVEN L, K6 3NE3 600 -7.0 2
N ~~~~~ 9865 N 1~~~~ vQJ2 4SW4 620 -8.0 1
S ~ ~ ~ ~ ~ 476543 S 1 ~~~~ o A9743 3NE4 630 -80 2
E 6~552 aJ8 E ~~333 &A86
W 6~552 W ~~333
# 27 a J52 6CE-1-50 Mean: 4HS4 420 120 1 ||# 28 » AJ75 4HS-1 100 Mean: 4HS4 620 110 2
v J9763 5DXW5 550 -230 6DXW-1 100 8.0 1 v K42 4HS-1100 80  4HN4 620 110 1
¢T3 Dif: -600 NS:-8 6DW-1 50 7.0 1 + Q87 Dif: 0 NS:-5 3NN4 630 110 1
» A82 IMP: -12 EW:-7 6CE-1 50 7.0 2 & A93 IMP: 0 EW:5 4HS-1 100 50 6
- # AK876 6HXS-2 300 20 1 ||a T86 » Q43 3NS-1 100 50 1
v v K84 5DW5 400 50 5 ||v J875 | v3 4HS-2 200 7.0 1
+ AK986542 *QJ 5DXW5 550 8.0 3 [|e JT9 * A432 3NN-2 200 7.0 2
& QT653 & J97 & QJ8 & K7642
®e¢veN L Q1943 ¢VeN L K2
N ~~ 42~ ¢ AQT52 N ~~ 443 ¢ AQT96
S ~~42~ o7 S ~~443 ¢ K65
E 54~~~ aK4 E ~~~~~ aT5
W54~~~ W ~~~~~
# 29 » Q98 3NS3 -600 Mean: 3NS5 660 40 2 ||# 30 a4 3NN5 -460 Mean: 4SS6 480 50 4
073 3NS3 -600 510 3NS4 630 3.0 1 v AJT 4SS6 -480 300 4SS5 450 40 1
¢ T96 Dif: 0 NS:3 3NS3 600 3.0 9 ¢ AT54 Dif: 20 NS:5 3NN5 460 40 1
» KT643 IMP: 0 EW:-3 5CS-1 100 120 1 » 98654 IMP: 1 EW:-4 3SS6 230 20 1
» K743 N » T52 3NS-1 00 120 1 ||a A92 s J6 25S6 230 20 4
v AK654 v JT9 v 643 v 9875 2SS5 200 3.0 2
¢ J75 + ¢ 843 + K76 ¢ 9832 3NN-1 -50 -80 1
&9 & J872 & AT72 & KJ3
*eveN A6 ®+¢veN L, KQT8753
N 34~~2 Q82 N ~~~52 ¢ KQ2
S 44 ~~3 ¢ AKQ2 S ~~~52 +QJ
E ~~~~~ a&aAQ5 E~~~~~aQ
W~~~~~ W~~~~~




St - - 2
3 114 ¥ Z 2ABERE Bl = RS 3
L v v
Vo axq V-
#1: 13 TE1R(51.88) #2: 6 F#7(46.48) #3: 3 Oceans(40.83)
1 O NS: 55 BRiE%(5H0) 0 12 NS: #tZ % M=RE(BAC) 25 VP:| 3.82 16.18| Total VP: 19.79 Rank:
EW: £ E #FEHEAC) -25 EW: 55 % 21235 (550) 0 IMP:| 5 : 26 12
_ __
# 21 » AQ42 3NN5 660 Mean: 3NN5 660 1.0 2 [[# 22 o AQ42 1CE-2200 Mean: 1CE-4 400 50 2
v AJ962 4HN5 650 640  4HS5 650 0.0 1 w7 1CE-4 400 210 1CE-3 300 30 3
o7 Dif: 10 NS:1  4HN5 650 0.0 8 + KT74 Dif: -200 NS:0 2HW-2 200 00 1
» K93 IMP: 0 EW:0 4HN4 620 1.0 3 » AQT2 IMP: -5 EW:-5 1CE-2 200 00 1
& KT985 4 76 & KT8 4 9753 3DS4 130 -20 2
v KQ4 v73 v 8642 —_ v AQ95 2NS3 150 20 1
+ Q65 | * T82 + J62 + A5 3DS3 10 30 1
& 74 & AT8652 & 875 & K63 1SN2 110 -3.0 1
¢VeN ,J3 ®IVEON L J6 1NN2 1200 30 1
N ~45~4 ¢T85 N 44~~2 ¢ KJT3 1NN1 90 3.0 1
S ~ 45~ 4 ¢ AKJ943 S 34~~2 4Q983
E ~~~~~aQ E ~~~~~ aJ%
W~~~~~ W~~~~~
# 23 » J873 3HW3 -140 Mean: 3NN4 630 120 1 ||# 24 » 63 3CE-2100 Mean: 4SE-2 100 60 1
v Q4 2HW3 -140 -30  4HW-1 100 40 1 v QJT752 3NW-150 -140 3CE-2 100 60 1
+ AKJ9 Dif: 0 NS:-3 2SE-1 100 40 1 ¢ A74 Dif: 50 NS:6 4SE-1 50 50 1
» QJ8 IMP: 0 EW:3 2CS2 90 30 1 & QJ IMP: 2 EW:-5 3NW-1 50 50 1
s T2 + AKQ54 3CN-1 4100 20 1 ||a K74 » AQT52 3HN-1 50 3.0 1
v AK7 + v 98653 1SE1 80 -20 1 ||v K86 v4 3sW3 140 0.0 1
+ Q873 ¢ 65 3HW3 140 30 1 ||e JT986 ¢ 52 3SE3 140 00 3
& T975 S ®2 3HE3 140 30 1 ||a AT & K8654 3SE4 470 4.0 2
PEVEN A9 2HW3 140 30 5 PIVEN 4 JoB 4SE5 450 70 1
N 22~~2 ¢JT2 3DN-2 200 50 1[N ~~2~~ ¢ A93 4SE4 420 70 1
S 22~~2 4T42 S ~~2~~ 4KaQ3 5HXN-3  -500 -8.0 1
E ~~ 31~ aAK643 E 22~42 49732
W ~~31~ W 22~42
# 25 » 983 4HWG6 -680 Mean: 4DXN-3 500 50 1 ||# 26 » J87 4SW4 -620 Mean: 4SW-1 100 9.0 1
073 5DXN-4 -800 -680 5CE6 620 20 1 v 983 2CXN-2 -500 -300  3SW-1 100 9.0 1
+» AQJ82 Dif: 120 NS:0 5HW5 650 1.0 2 ¢ J2 Dif: -120 NS:-8 3Sw4 170 40 1
» 954 IMP: 3 EW:3 4HES5 650 1.0 2 » JT943 IMP: -3 EW:5 3SW3 140 40 1
s AJ64 s T75 4HW6 680 0.0 2 ||a AQT942 4 53 3SE3 140 40 1
v QT942 v AKJ 4HE6 680 0.0 3 ||v AK7 + v T654 2sw3 140 40 2
+ K ¢ T9 5DXS-4 800 3.0 1 ||eT5 + KQ86 2SE3 140 40 1
& Q6 & AKT73 5DXN-4 800 -3.0 2 ||a K5 & Q72 2CXN-2 500 -50 1
PEVEN H,KQ2 PIVEN L, K6 3NE3 600 -7.0 2
N ~~~~~ 9865 N 1~~~~ vQJ2 4SW4 620 -8.0 1
S ~ ~ ~ ~ ~ 476543 S 1 ~~~~ o A9743 3NE4 630 -80 2
E 6~552 aJ8 E ~~333 &A86
W 6~552 W ~~333
# 27 a J52 5DXWS5 -550 Mean: 4HS4 420 120 1 ||# 28 » AJ75 3NN4 630 Mean: 4HS4 620 110 2
v J9763 6DW-150 -230 6DXW-1 100 80 1 v K42 4HN4 620 80  4HN4 620 110 1
¢T3 Dif: -600 NS:-8 6DW-1 50 7.0 1 + Q87 Dif: 10 NS:11  3NN4 630 110 1
» A82 IMP: -12 EW:-7 6CE-1 50 7.0 2 & A93 IMP: 0 EW:-11 4HS-1 100 50 6
- # AK876 6HXS-2 300 20 1 ||a T86 » Q43 3NS-1 100 50 1
v v K84 5DW5 400 50 5 ||v J875 | v3 4HS-2 200 7.0 1
+ AK986542 *QJ 5DXW5 550 8.0 3 [|e JT9 * A432 3NN-2 200 7.0 2
& QT653 & J97 & QJ8 & K7642
PIVEN ,QT943 ¢Ve®N , K92
N ~~ 42~ ¢ AQT52 N ~~ 443 ¢ AQT96
S ~~42~ o7 S ~~443 ¢ K65
E 54~~~ aK4 E ~~~~~ aT5
W54~~~ W ~~~~~
# 29 » Q98 3NS3 600 Mean: 3NS5 660 40 2 ||# 30 a4 2SS6 230 Mean: 4SS6 480 50 4
073 3NS3600 510 3NS4 630 3.0 1 v AJT 4SS6 480 300 4SS5 450 40 1
¢ T96 Dif: 0 NS:3 3NS3 600 3.0 9 ¢ AT54 Dif: -250 NS:-2 3NN5 460 40 1
» KT643 IMP: 0 EW:-3 5CS-1 100 120 1 » 98654 IMP: -6 EW:-5 3SS6 230 20 1
» K743 N » T52 3NS-1 00 120 1 ||a A92 s J6 25S6 230 20 4
v AK654 v JT9 v 643 v 9875 2SS5 200 3.0 2
¢ J75 + ¢ 843 + K76 ¢ 9832 3NN-1 -50 -80 1
&9 & J872 & AT72 & KJ3
*eveN A6 ®+¢veN L, KQT8753
N 34~~2 Q82 N ~~~52 ¢ KQ2
S 44 ~~3 ¢ AKQ2 S ~~~52 +QJ
E ~~~~~ a&aAQ5 E~~~~~aQ
W~~~~~ W~~~~~




JES S < 2
3 114 ¥ Z 2ABERE Bl = RS 3
L v v
Vo axq V-
#1: 13 TE1R(51.88) #2: 6 F#7(46.48) #3: 3 Oceans(40.83)
1 1 NS: S HEE FEZE(E 0) 14 NS: 15fREE BREZEN(BAC) 9 VP:| 6.57 13.43| Total VP: 24.47 Rank:
EW: B HETF RHETFEIC) EW: R{Z8R ERHEE(FI0) 5 IMP:| 14 24 11
_ __
# 21 » AQ42 4HN5 650 Mean: 3NN5 660 1.0 2 [[# 22 o AQ42 1CE-3 300 Mean: 1CE-4 400 50 2
v AJ962 4HN5 650 640  4HS5 650 0.0 1 w7 3DS4130 210 1CE-3 300 30 3
o7 Dif: 0 NS:0 4HN5 650 0.0 8 + KT74 Dif: 170 NS:3 2HW-2 200 00 1
» K93 IMP: 0 EW:0 4HN4 620 1.0 3 » AQT2 IMP: 5 EW:2 1CE-2 200 00 1
& KT985 4 76 & KT8 4 9753 3DS4 130 20 2
v KQ4 v73 v 8642 _— v AQ95 2NS3 150 20 1
+ Q65 | * T82 + J62 + A5 3DS3 10 30 1
& 74 & AT8652 & 875 & K63 1SN2 110 3.0 1
¢vVeN ,J3 ®IVEON L J6 1NN2 1200 30 1
N ~45~4 ¢T85 N 44~~2 ¢ KIT3 1NN1 90 3.0 1
S ~ 45~ 4 ¢ AKJ943 S 34~~2 4Q983
E ~~~~~aQ E ~~~~~ aJ%
W ~~~~~ W ~~~~~
# 23 » J873 2CS290 Mean: 3NN4 630 120 1 ||# 24 » 63 3SE3 -140 Mean: 4SE-2 100 60 1
v Q4 3HE3 -140 -30  4HW-1 100 40 1 v QJT752 3HN-1-50 -140  3CE-2 100 60 1
+ AKJ9 Dif: 230 NS:3  2SE-1 100 40 1 ¢ A74 Dif: -90 NS:0 4SE-1 50 50 1
» QJ8 IMP: 6 EW:3 2CS2 90 30 1 & QJ IMP: -3 EW:-3 3NW-1 50 50 1
s T2 + AKQ54 3CN-1 4100 20 1 ||a K74 » AQT52 3HN-1 50 3.0 1
v AK7 + v 98653 1SE1 80 -20 1 ||v K86 v4 3sW3 140 0.0 1
+ Q873 ¢ 65 3HW3 140 30 1 ||e JT986 ¢ 52 3SE3 140 00 3
& T975 S ®2 3HE3 140 30 1 ||a AT & K8654 3SE4 470 4.0 2
PEVEN A9 2HW3 140 30 5 PIVEN 4 JoB 4SE5 450 70 1
N 22~~2 ¢JT2 3DN-2 200 50 1[N ~~2~~ ¢ A93 4SE4 420 70 1
S 22~~2 4T42 S ~~2~~ 4KaQ3 5HXN-3  -500 -8.0 1
E ~~ 31~ aAK643 E 22~42 49732
W ~~31~ W 22~42
# 25 » 983 4HE6 -680 Mean: 4DXN-3  -500 50 1 [|# 26 » J87 2SE3 -140 Mean: 4SW-1 100 9.0 1
073 5HW5 -650 -680 5CE6 620 20 1 v 983 3SW3-140 -300 3SW-1 100 9.0 1
+» AQJ82 Dif: -30 NS:0 5HWS 650 1.0 2 ¢ J2 Dif: 0 NS:4 3SW4 170 40 1
» 954 IMP: -1 EW:-1 4HES5 650 1.0 2 » JT943 IMP: 0 EW:-4 3SW3 140 40 1
s AJ64 s T75 4HW6 680 0.0 2 ||a AQT942 4 53 3SE3 140 40 1
v QT942 v AKJ 4HE6 680 00 3 ||e AK7 + v T654 2sw3 140 40 2
+ K ¢ T9 5DXS-4 800 3.0 1 ||eT5 + KQ86 2SE3 140 40 1
& Q6 & AKT73 5DXN-4 800 -3.0 2 ||a K5 & Q72 2CXN-2 500 -50 1
PEVEN H,KQ2 PIVEN L, K6 3NE3 600 -7.0 2
N ~~~~~ ¢865 N 1~~~~ vQJ2 4SW4 620 -8.0 1
S ~ ~ ~ ~ ~ 476543 S 1~~~~ ¢ A9743 3NE4 630 -80 2
E 6~552 aJ8 E ~~333 &A86
W 6~552 W ~~333
# 27 » J52 5DWS5 -400 Mean: 4HS4 420 120 1 [|# 28 » AJ75 4HS-1-100 Mean: 4HS4 620 110 2
v J9763 4HS4 420 -230 6DXW-1 100 80 1 v K42 3NN-2-200 80  4HN4 620 110 1
¢T3 Dif: -820 NS:-5 6DW-1 50 7.0 1 + Q87 Dif: 100 NS:-5 3NN4 630 110 1
» A82 IMP: -13 EW:-12 6CE-1 50 7.0 2 a A93 IMP: 3 EW:7 4HS-1 100 50 6
- # AK876 6HXS-2 300 20 1 ||a T86 » Q43 3NS-1 100 50 1
v v K84 5DW5 400 50 5 ||e J875 | v3 4HS-2 200 7.0 1
+ AK986542 *QJ 5DXW5 550 8.0 3 [|e JT9 * A432 3NN-2 200 7.0 2
& QT653 & J97 & QJ8 & K7642
®e¢veN L Q1943 ¢VeN L K2
N ~~ 42~ ¢ AQT52 N ~~ 443 ¢ AQT96
S ~~42~ o7 S ~~443 ¢ K65
E 54~~~ aK4 E ~~~~~ aT5
W54~~~ W ~~~~~
# 29 » Q98 3NS3 600 Mean: 3NS5 660 40 2 ||# 30 a4 3NN-1 -50 Mean: 4SS6 480 50 4
073 3NS3600 510 3NS4 630 3.0 1 v AJT 3SS6 230 300 4SS5 450 40 1
¢ T96 Dif: 0 NS:3 3NS3 600 3.0 9 ¢ AT54 Dif: -280 NS:-8 3NN5 460 40 1
» KT643 IMP: 0 EW:-3 5CS-1 100 120 1 » 98654 IMP: -7 EW:2 3SS6 230 20 1
» K743 N » T52 3NS-1 00 120 1 ||a A92 s J6 25S6 230 20 4
v AK654 v JT9 v 643 v 9875 2SS5 200 -3.0 2
¢ J75 + ¢ 843 + K76 ¢ 9832 3NN-1 -50 -80 1
&9 & J872 & AT72 & KJ3
*eveN A6 ®+¢veN L, KQT8753
N 34~~2 Q82 N ~~~52 ¢ KQ2
S 44 ~~3 ¢ AKQ2 S ~~~52 +QJ
E ~~~~~ a&aAQ5 E~~~~~aQ
W~~~~~ W~~~~~




St - - 2
3 114 ¥ Z 2ABERE Bl = RS 3
L v v
Vo axq V-
#1: 13 TE1R(51.88) #2: 6 F#7(46.48) #3: 3 Oceans(40.83)
1 2 NS: #7722 FR=EEHC) 25 10 NS: #t# 8 BRttI5(B0) 0 VP:| 16.18 : 3.82 | Total VP: 34.39 Rank:
EW: 5 ZE2EI0) 0 EW: ZER #=H(FC) -2 IMP:| 26 5 5
_ __
# 21 » AQ42 3NN5 -660 Mean: 3NN5 660 1.0 2 [[# 22 o AQ42 1CE-2 -200 Mean: 1CE-4 400 50 2
v AJ962 4HN5 -650 640  4HS5 650 0.0 1 w7 1CE-4-400 210  1CE-3 300 30 3
o7 Dif: -10 NS:0 4HNS5 650 0.0 8 + KT74 Dif: 200 NS:5 2HW-2 200 00 1
» K93 IMP: 0 EW:-1 4HN4 620 1.0 3 » AQT2 IMP: 5 EW:0 1CE-2 200 00 1
& KT985 4 76 & KT8 4 9753 3DS4 130 20 2
v KQ4 v73 v 8642 _— v AQ95 2NS3 150 20 1
+ Q65 | * T82 + J62 + A5 3DS3 10 30 1
& 74 & AT8652 & 875 & K63 1SN2 110 3.0 1
¢vVeN ,J3 ®IVEON L J6 1NN2 1200 30 1
N ~45~4 ¢T85 N 44~~2 ¢ KIT3 1NN1 90 3.0 1
S ~ 45~ 4 ¢ AKJ943 S 34~~2 4Q983
E ~~~~~aQ E ~~~~~ aJ%
W ~~~~~ W ~~~~~
# 23 » J873 3HW3 140 Mean: 3NN4 630 120 1 ||# 24 » 63 3CE-2-100 Mean: 4SE-2 100 60 1
v Q4 2HW3 140 -30  4HW-1 100 40 1 v QJT752 3NW-1-50 -140 3CE-2 100 60 1
+ AKJ9 Dif: 0 NS:-3 2SE-1 100 40 1 ¢ A74 Dif: -50 NS:5 4SE-1 50 50 1
» QJ8 IMP: 0 EW:3 2CS2 90 30 1 & QJ IMP: -2 EW:-6 3NW-1 50 50 1
s T2 + AKQ54 3CN-1 4100 20 1 ||a K74 » AQT52 3HN-1 50 3.0 1
v AK7 + v 98653 1SE1 80 -20 1 ||v K86 v4 3sW3 140 0.0 1
+ Q873 ¢ 65 3HW3 140 30 1 ||e JT986 ¢ 52 3SE3 140 00 3
& T975 S ®2 3HE3 140 30 1 ||a AT & K8654 3SE4 470 4.0 2
PEVEN A9 2HW3 140 30 5 PIVEN 4 JoB 4SE5 450 70 1
N 22~~2 ¢JT2 3DN-2 200 50 1[N ~~2~~ ¢ A93 4SE4 420 70 1
S 22~~2 4T42 S ~~2~~ 4KaQ3 5HXN-3  -500 -8.0 1
E ~~ 31~ aAK643 E 22~42 49732
W ~~31~ W 22~42
# 25 » 983 4HW6 680 Mean: 4DXN-3  -500 5.0 1 ||# 26 » J87 4SW4 620 Mean: 4SW-1 100 9.0 1
073 5DXN-4 800 -680 5CE6 620 20 1 v 983 2CXN-2 500 -300  3SW-1 100 9.0 1
+» AQJ82 Dif: -120 NS:-3 5HW5 650 1.0 2 ¢ J2 Dif: 120 NS:-5 3SW4 170 40 1
» 954 IMP: -3 EW:0 4HES5 650 1.0 2 » JT943 IMP: 3 EW:8 3SW3 140 40 1
s AJ64 s T75 4HW6 680 0.0 2 ||a AQT942 4 53 3SE3 140 40 1
v QT942 v AKJ 4HE6 680 0.0 3 ||v AK7 + v T654 2sw3 140 40 2
+ K ¢ T9 5DXS-4 800 3.0 1 ||eT5 + KQ86 2SE3 140 40 1
& Q6 & AKT73 5DXN-4 800 -3.0 2 ||a K5 & Q72 2CXN-2 500 -50 1
PEVEN H,KQ2 PIVEN L, K6 3NE3 600 -7.0 2
N ~~~~~ ¢865 N 1~~~~ vQJ2 4SW4 620 -8.0 1
S ~ ~ ~ ~ ~ 476543 S 1~~~~ ¢ A9743 3NE4 630 -80 2
E 6~552 aJ8 E ~~333 &A86
W 6~552 W ~~333
# 27 » J52 5DXWS5 550 Mean: 4HS4 420 120 1 [|# 28 » AJ75 3NN4 -630 Mean: 4HS4 620 110 2
v J9763 6DW-1-50 -230 6DXW-1 100 8.0 1 v K42 4HN4 -620 80  4HN4 620 110 1
¢T3 Dif: 600 NS:7 6DW-1 50 7.0 1 + Q87 Dif: -10 NS:11  3NN4 630 110 1
» A82 IMP: 12 EW:8 6CE-1 50 7.0 2 a A93 IMP: 0 EW:-11 4HS-1 100 50 6
- # AK876 6HXS-2 300 20 1 ||a T86 » Q43 3NS-1 100 50 1
v v K84 5DW5 400 50 5 ||e J875 | v3 4HS-2 200 7.0 1
+ AK986542 *QJ 5DXW5 550 8.0 3 [|e JT9 * A432 3NN-2 200 7.0 2
& QT653 & J97 & QJ8 & K7642
PIVEN ,QT943 ¢Ve®N , K92
N ~~ 42~ ¢ AQT52 N ~~ 443 ¢ AQT96
S ~~42~ o7 S ~~443 ¢ K65
E 54~~~ aK4 E ~~~~~ aT5
W54~~~ W ~~~~~
# 29 » Q98 3NS3 -600 Mean: 3NS5 660 40 2 ||# 30 a4 2SS6 -230 Mean: 4SS6 480 50 4
073 3NS3 -600 510 3NS4 630 3.0 1 v AJT 4SS6 -480 300 4SS5 450 40 1
¢ T96 Dif: 0 NS:3 3NS3 600 3.0 9 ¢ AT54 Dif: 250 NS:5 3NN5 460 40 1
» KT643 IMP: 0 EW:-3 5CS-1 100 120 1 » 98654 IMP: 6 EW:2 3SS6 230 20 1
» K743 N » T52 3NS-1 00 120 1 ||a A92 s J6 25S6 230 20 4
v AK654 v JT9 v 643 v 9875 2SS5 200 -3.0 2
¢ J75 + ¢ 843 + K76 ¢ 9832 3NN-1 -50 -80 1
&9 & J872 & AT72 & KJ3
*eveN A6 ®+¢veN L, KQT8753
N 34~~2 Q82 N ~~~52 ¢ KQ2
S 44 ~~3 ¢ AKQ2 S ~~~52 +QJ
E ~~~~~ a&aAQ5 E~~~~~aQ
W~~~~~ W~~~~~




RSN '3 —~5 jrir- s _ 3 3
3 114 F 2FApERE le =R
L v v
Vo axq V-
#1: 13 TE1R(51.88) #2: 6 F#7(46.48) #3: 3 Oceans(40.83)
1 3 NS: SA558 BRH&ERC) 12 8 NS: ##53H ERE(BO) -9 VP:[ 15.29 : 4.71 Total VP: 51.88 Rank:
EW: 27 SEE5EE0) 9 EW: BiSE Z=83E(FAC) 1 IMP:| 32 15 1
_
# 21 » AQ42 4HS5 -650 Mean: 3NN5 660 1.0 2 ||# 22 » AQ42 3DS4 -130 Mean: 1CE-4 400 50 2
v AJ962 4HN5 -650 640  4HS5 650 0.0 1 w7 1CE-3-300 210 1CE-3 300 30 3
o7 Dif: 0 NS:0 4HN5 650 0.0 8 + KT74 Dif: 170 NS:3 2HW-2 200 00 1
» K93 IMP: 0 EW:0 4HN4 620 1.0 3 » AQT2 IMP: 5 EW:2 1CE-2 200 00 1
& KT985 4 76 & KT8 4 9753 3DS4 130 -20 2
v KQ4 v73 v 8642 _— v AQ95 2NS3 150 20 1
+ Q65 | * T82 + J62 + A5 3DS3 10 30 1
& 74 & AT8652 & 875 & K63 1SN2 110 -3.0 1
¢vVeN ,J3 ®IVEON L J6 1NN2 1200 30 1
N ~45~4 ¢T85 N 44~~2 ¢ KIT3 1NN1 90 3.0 1
S ~ 45~ 4 ¢ AKJ943 S 34~~2 4Q983
E ~~~~~aQ E ~~~~~ aJ%
W~~~~~ W~~~~~
# 23 » J873 3DN-2 200 Mean: 3NN4 630 120 1 ||# 24 » 63 4SE-1-50 Mean: 4SE-2 100 60 1
v Q4 2HW3 140 -30  4HW-1 100 40 1 v QJT752 3SE3 140 -140 3CE-2 100 60 1
+ AKJ9 Dif: 60 NS:-3 2SE-1 100 40 1 ¢ A74 Dif: -190 NS:0 4SE-1 50 50 1
» QJ8 IMP: 2 EW:5 2CS2 90 30 1 & QJ IMP: -5 EW:-5 3NW-1 50 50 1
s T2 + AKQ54 3CN-1 4100 20 1 ||a K74 » AQT52 3HN-1 50 3.0 1
v AK7 + v 98653 1SE1 80 -20 1 ||v K86 v4 3sW3 140 0.0 1
+ Q873 ¢ 65 3HW3 140 30 1 ||e JT986 ¢ 52 3SE3 140 00 3
& T975 S ®2 3HE3 140 30 1 ||a AT & K8654 3SE4 470 4.0 2
PEVEN A9 2HW3 140 30 5 PIVEN 4 JoB 4SE5 450 70 1
N 22~~2 ¢JT2 3DN-2 200 50 1[N ~~2~~ ¢ A93 4SE4 420 70 1
S 22~~2 4T42 S ~~2~~ 4KaQ3 5HXN-3  -500 -8.0 1
E ~~ 31~ aAK643 E 22~42 49732
W ~~31~ W 22~42
# 25 » 983 5DXS-4 800 Mean: 4DXN-3  -500 5.0 1 ||# 26 » J87 3SW4 170 Mean: 4SW-1 100 9.0 1
073 4HW6 680 -680 5CE6 620 20 1 v 983 3NE4 630 -300 3SW-1 100 9.0 1
+» AQJ82 Dif: 120 NS:0 5HW5 650 1.0 2 ¢ J2 Dif: -460 NS:-8 3SW4 170 40 1
» 954 IMP: 3 EW:3 4HES5 650 1.0 2 » JT943 IMP: -10 EW:-4 3SW3 140 40 1
s AJ64 s T75 4HW6 680 0.0 2 ||a AQT942 4 53 3SE3 140 40 1
v QT942 v AKJ 4HE6 680 00 3 ||e AK7 + v T654 2sw3 140 40 2
+ K ¢ T9 5DXS-4 800 3.0 1 ||eT5 + KQ86 2SE3 140 40 1
& Q6 & AKT73 5DXN-4 800 -3.0 2 ||a K5 & Q72 2CXN-2 500 -50 1
PEVEN H,KQ2 PIVEN L, K6 3NE3 600 -7.0 2
N ~~~~~ ¢865 N 1~~~~ vQJ2 4SW4 620 -8.0 1
S ~ ~ ~ ~ ~ 476543 S 1~~~~ ¢ A9743 3NE4 630 -80 2
E 6~552 aJ8 E ~~333 &A86
W 6~552 W ~~333
# 27 » J52 6HXS-2 300 Mean: 4HS4 420 120 1 [|# 28 » AJ75 4HS-2 200 Mean: 4HS4 620 110 2
v J9763 6DXW-1-100 -230 6DXW-1 100 80 1 v K42 4HS4 620 80  4HN4 620 110 1
¢T3 Dif: 400 NS:8 6DW-1 50 7.0 1 + Q87 Dif: 820 NS:11  3NN4 630 110 1
» A82 IMP: 9 EW:2 6CE-1 50 7.0 2 a A93 IMP: 13 EW:7 4HS-1 100 50 6
- # AK876 6HXS-2 300 20 1 ||a T86 » Q43 3NS-1 100 50 1
v v K84 5DW5 400 50 5 ||e J875 | v3 4HS-2 200 7.0 1
+ AK986542 *QJ 5DXW5 550 8.0 3 [|e JT9 * A432 3NN-2 200 7.0 2
& QT653 & J97 & QJ8 & K7642
®e¢veN L Q1943 ¢VeN L K2
N ~~ 42~ ¢ AQT52 N ~~ 443 ¢ AQT96
S ~~42~ o7 S ~~443 ¢ K65
E 54~~~ aK4 E ~~~~~ aT5
W54~~~ W ~~~~~
# 29 » Q98 3NS3 -600 Mean: 3NS5 660 40 2 ||# 30 a4 2SS6 -230 Mean: 4SS6 480 50 4
073 3NS3-600 510 3NS4 630 3.0 1 v AJT 2SS6 -230 300 4SS5 450 40 1
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